AL. £U9J — UV

Best.-Nr.: 50-T010

o

¢

J\ZG>’
@/ o140 8
;ff
i
3

Stiickliste Schraubensatz
50-T01 Markisenwinkel: 3x Schraube M8x20, DIN933 a
)ix Winkel A | 4x Scheibe 8,4 x 20 x 1,25 b
1x Verlangerungsblech B | 3x Federring M8 c
4x Platte C | 1x Mutter M8 d
2x Schraube M6x20 DIN9S33 e
50-N003: 2x Scheibe 6,4 x20x 1,5 f
2x RHINO Rack Einschubm. M8 D | 2x Federring M6 s]
2x Rundbiigel A30 M10, DIN3570 h

(Art.Nr. 15-3570A30VZ)
63-A002: 4x Scheibe M10 i
2x UPRACKS Spezial Mutter M8 E | 4x Federring M10 j
B 4x Mutter M10 k

RHINO Rack Dachtrager UPRACKS Dachtrager




